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Procedure: Feasible solution representation
   Input data:

          Number of jobs and machines and number of operations for each job ;
            Let the vi  ( i=1, … , N ) be the N operations for n jobs in
            the orderly manner;
          Precedence sequence of each operation;
          Alternative machine and time for each operation including outsourcing;
          Transportation time for outsourcing;
   Begin:

        Generate Chromosome with Machine selection:
          Allocate a randomly selected machine to each operation, vi  ;
          Generate random priority number (1 to N ) for each operation, vi  ;

       Generate operations sequencing:
         Determine the operation-sequence of each job with the generated
            random priority number and TO;

        Determine the makespan time for each machine to complete all job:
             For i=1 to k ( i is machine number)
                Mi =0;
               For j = 1 to m do ( j is jth operation of each job)
                  

                   If the jth operation has no idle time according
                     to the determined operation-sequences
                   Then Mi  = Mi + machining time of jth operation;
                   Else compute the idle time according
                      to the determined operation-sequences
                   Then Mi  = Mi + idle_time + machining time of jth operation;
             End;
    End;
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Figure 9. Schedule output in the form of a Gantt chart  
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